
Subject: Re: PID Error
Posted by Florian Uhlig on Mon, 27 May 2013 10:05:11 GMT
View Forum Message <> Reply to Message

Hi Simon,

this has to do with the fact that Geant3 was written as a 32bit program and the code was
adapted to 64bit. The error you see has to do with this adaption. If the fortran/geant3/zebra
memory manager detects an incorrect memory layout the program is terminated immediately.
This is done to avoid crashes during runtime or even worse changing the transport results.

As Stefano pointed out you can easily run the same simulation again and you will not see any
problems.

Ciao

Florian

Page 1 of 1 ---- Generated from GSI Forum

https://forum.gsi.de/index.php?t=usrinfo&id=994
https://forum.gsi.de/index.php?t=rview&th=3886&goto=14812#msg_14812
https://forum.gsi.de/index.php?t=post&reply_to=14812
https://forum.gsi.de/index.php

